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Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI
dFVo

day

10

14

2400

2300 -

2200

2100 -

2000

1900 ~

1800

SR — — — B — — — I — — — — MK

-»%- fz stock_ec

s 1ing: col ['ECC’] is missing
36 (]

2 4

day

10

12

14

6.6 7

6.4

6.2

6.0

5.8

9.6 7

—>&—  PHB*10%

Warning: col ['PHC ] is missing

day

10

12

14

800 -

600 -

400 ~

200

—&— DUC

day

10

14

500 ~

400 ~

300 ~

200 -

100

—&— FRV

10

14

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

—&— FRC

day

10

14




175

"optETcl’ ], 'LAl’', ’'optEtRate’]

['ETcl’,

150

125

100

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

75

50

25

| | | |
e 2 sy ° = 2
(] o o | ot - ©
- - - z = o 9B %
— o w
w o +
_ _ _ _ ( _ _ g
Lo M ) Lo _ Lo Lo
M ‘ = & = = = = 0
\\V v -
A
— 2 2 2 2 2 —
— )
\ R v
AU
AV o
——
_T
— Te) Te) Te) Te) ( Te)
< < < . <
]
Av
—
<
> L\\\
—
— 3 3 s mw g ;\.\\ 5
— ° © © E-] b\.\ ° —
I e M
— \\ —
~ \ ~ ~ ~ ~
— ) =
—— v AV
< m
o o o o o
N\ —|V WW / H/U
2 >3 3 = S 2 N 2 =
—— ——
Am =
-
IIIII ———— ——— lﬁll [ ————————— Illl'lll [ ————— —_———— ————— [ ™= " D D AR R R R e e—— —_— - [ T TR SR D D M TR D D R DG e e — ——— [ —————— IIII“IIIII
Alv P—
2 W
~ /' V
MV \ th
—— < <
o o o o o
o o o o o o o 1 o 1’ ©o 1’ o . o o o o o o o o o o o o ) o o o 15 o o o~ o © ©
sy S Ired S red S . © 1) Te) s < 5 =) S S S S . . 8
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